AP Calcwlus AR

')n) abs max @ x=o
abs min @ X=-2, 2

b) abs max € x=¢&

¢) abs max € x-b
abs min € x=G

2
a) x{{-) 3{- 'f"f'é é‘\{
x'(t) = 1243 ﬂ‘z{z 2t =

Ex'fw.'ma en an Iu‘l'i'-'lf‘-"“v}

%
B) g(4)= 5t 347
jl‘{.&): 10 -’!'31‘_ 1_35.,{,75- = 5

2t (t+t-n=0
[Eo) ¢ = 1+ {i-4as f{"-’-‘“—-é) -0
— :
Iér-IE7 {r"‘ =1 - M- i3
2 =72
Q) Pl = x _bux J)j(a) 16 -coso (0,2%)
£le)> x4 b x 916) = g;-+5m5' o
;+_.£,Lx =0 Siné = 5':
Dnx = - =1 uw
!Xﬁe”) °
&) flxy = x e

X

£x) = x(ZE’“') te
= z"‘(z)c +|') =0

3) a) £(x) = 2.)(3:*3&1—!1* + | EZ, 3]
)= bx*tx-12 =0

6(x* x-2) =0

(x-2)(x+1) =0
k=2 X=-|
w | F(x)
—Z | -lb-ja 2§+l = -3

=l |-2-3+R2¢+] =8 & MAX
Z | je=12~29+ <27 & M (a)
3 | 54-27-3L+] =-¢

I’-’) 'F(')'-’) (X |) on E"I '3-]
F)= 3(x*)"2x =0

3(x%1%p 2x= o
x=1, -] ¥ =0
¥ £(x)
| (4]
1) ol e— M In
! 0
2 27 & MAX




g) £09= xP+ax“t b £ 00 = 3x™+ 200
Ly=8+4a+b =3 fl2)= |24Yq =0

Yg +b +8 =3 e,
q=-3

-2 +b+§ =3

—————




